Sunday, March 14, 2021 11:39 PM

Calculate the velocity and mach number of a supersonic aircraft flying at an altitude of 1200m where
the temperature of is 0 2 C. the sound of air craft is heard 3 second after passage of air craft over the
head of an observer. Assume R=287 J/kg K and y=1.4
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A super sonic aero plane is flying at 1500 km/hr at an altitude of 10 km above sea level in standard
atmosphere. The pressure and density are as 2.5 N/cm2 absolute and 0.4 kg/m3. Calculate the
pressure and temperature and density at the stagnation point on the nose of the plane. Assume
R=287 J/kg K and y=1.4
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